(14.594) £
|
(7 = N\ I
® . @
clid )
E i E
. | |
! (12.594)
[
C | 9
g& — %jg 1
|
([ DA\
oy w ) { } —
NI 1
1
C
I_V_U u_v_l
(13.599)
B
| T
(6.769)
(6.456)
A :‘l JQ\ ,’:
(13.999)
SECTION E-E

(]

SCALET:3
PART NUMBER: YQ-141206-27

4 3 2 1
BOM Table
ITEM NO.| PART NUMBER |[Rev. Description Material |FlameRating Color YQ-141206-13/QTY. | YQ-141206-17/QTY. | YQ-141206-23/QTY. | YQ-141206-27/QTY.
1 YQ-14126B-14 |-.02 BASE PC UL94V-0 |LIGHT GRAY 1 1 1 1
2 YQ-14121C-14 |-.01 COVER PC UL94V-0 |LIGHT GRAY 1 - 1 -
3 SCREWS-010 | - #10-32 X .75, HIGH PROFILE FILLISTER HEAD SS 4 4 - -
4 YH-91F - MOUNTING FOOT PC UL94V-0 |LIGHT GRAY 4 4 4 4
5 SCREWS-009 | - | 1/4-20 X .5, STAINLESS, FLAT HEAD, PHILLIPS DRIVE SS 4 4 4 4
6 YQ-14121C-18 |-.01 COVER PC UL94V-0 CLEAR - 1 - 1
#10-32 X .75, HI PROFILE FILLISTER HEAD, TAMPER-
/ SCREWS-041 | - RESISTANT TORX SCREW 18-855 - - 4 4
=
o) {ele
@ (10.250) (11.599) § (11.999)
@ (r\ |
he}——— ey} =
O N E— e S

SCALE1:3

PART NUMBER: YQ-141206-23

SCALE1:3
PART NUMBER: YQ-141206-17

4X @ .309 )

-.03

ADDED TAMPER-PROOF VERSION

D.M.F.

R.W.H.

6/1/2018

-.02

REVISED BASE

D.M.F.

D.M.F.

12/18/2014

REV.

DESCRIPTION

ZONE

BY

APPR'D

DATE

REVISIONS

SECTION E-E

SCALE 1

:3 A

3 PART NUMBER: YQ-141206-13

UNLESS OTHERWISE SPECIFIED: PART NO.
DIMENSIONS ARE IN: INCHES[mm]
TOLERANCES: ANGULAR: +2° YQ-141206
TWO PLACE DECIMAL: +.010
THREE PLACE DECIMAL: *.005 MATERIAL
PRINTED GRAPHICS: +.010
PROPRIETARY AND CONFIDENTIAL
1HE INFORMATION ConTANED INTHS |~ FLAME RATING SIZE
DRAWING IS THE SOLE PROPERTY OF
POLYCASE. ANY REPRODUCTION IN PART D
OR AS A WHOLE WITHOUT THE WRITTEN NAME DATE

PERMISSION OF POLYCASE IS PROHIBITED. DRAWN D.M.F. | 2/5/2014 1.
CAD FILE: YQ-141206 CHECKED = B.M.B. | 2/18/2014 SCALE: 1:2

1

1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 US.A.

PH#: 1-800-248-1233, 440-934-0444 FAX#: 440-934-0088

REV

-.03

SHEET 1 OF 2

REV
-.03

YQ-141206

“ D



BOM Table
ITEM NO. |PART NUMBER|Rev. Description MateriallFlameRating Color YQ-141206-14/QTY. | YQ-141206-18/QTY. | YQ-141206-24/QTY. | YQ-141206-28/QTY.

1 YQ-14126B-14|-.02 BASE PC UL?4V-0 | LIGHT GRAY 1 1 1 1

2 YQ-14121C-18|-.01 COVER PC UL?4Vv-0 CLEAR - 1 - 1

3 SCREWS-009 | - | 1/4-20 X .5, STAINLESS, FLAT HEAD, PHILLIPS DRIVE SS 4 4 4 4

4 YH-12F - MOUNTING FLANGE PC UL94V-0 |LIGHT GRAY 2 2 2 2

5 YQ-14121C-14|-.01 COVER PC UL94V-0 |LIGHT GRAY 1 - 1 -

S 401 6 SCREWS-010 | - #10-32 X .75, HIGH PROFILE FILLISTER HEAD SS 4 4 - -

oo 7 SCREWS-041 | - | #10-32X .75,RI-IIEIST’SRTCA)IEIIIT_I%(F)IIlélséSSTERREHVEVAD, TAMPER- [ 5.5 _ _ 4 4

F
<—|

A

m

v/
o TL’
0
|

oYe

L&
Sy
Nl

P,

/0

! R ' %
F |I II
I | ) | | |
| i =~ = i
| D |(12.594) Eh—— - - - ® - - - ; gD | (7.625) (10.000) (11.599) % 2(11.999)
& :%
: NG U :

N

\U
AL
%
G|
|

1] .188)
— d B —
! % S (313 A EY/ =
— : = AN == o= = o=f
SECTION F-F
: —— ={.219)
, : ] (15.125)
 14.594 )
I
N )
| L I\ Ile
\ ! j
SCALE1:3
(13.599) SCALET - 3 A PARTNUMBER: YQ-141206-14
: SCALE1:3
PART NUMBER: YQ-141206-28 PART NUMBER: YQ-141206-18
T
(6.456)
(6.769)
J 1\ |
N N N
( 13.999 ) — UNLESS OTHERWISE SPECIFIED: PART NO.
DIMENSIONS AREIN:INCHESEmPW] YQ_-|4-|206
THREE PLACE DECIMAL: +.005
SCALE1:3 A
e nroRmATon contanzo s | FLAME RATING SIZE REV
-03 ADDED TAMPER-PROOF VERSION D.M.F[RW.H.| 6/1/2018 | THENFORMATION CONTANTD M T
PARTNUMBER: YQ-141206-24 o B e ERIE| DM [T2/IB/2014] ot o e woe oo D -.03
' VSO ST U D U SCALE12 SHEET 2 OF 2

7 6 5 4 3 2 1

REV
-.03

YQ-141206

“ D



8 7 6 4 2 | 1
TOLERANCE CHART
DIMENSION | O |2756|3.543|4.7246.299 | 7.874 | 9.843 |12.402(15.748(19.685|24.803(31.496
RANGE |5 754 |3.543 | 4.724 | 6.299 | 7.874 | 9.843 |12.402(15.748(19.68524.803|31.496| 39.37
TOLERANCE | +.015| +.017| £.020| +.024 | +.028 | +.035| +.043 | +.051 | +.063 | +.079 | +.098 | +.118
156 = 4X 45.00°
1
F
|
4X 518
E
14.594
13.656 D
<—
C
5 1]
@)
~
=
o
Y
()
Y B
500 11.656
~— 1.063 —= 12.594 -—
A
PART NUMBER: YQ—] 4] 2] C—] 4 PART NUMBER: YQ_] 4] 2] C_] 8 UNLESS OTHERWISE SPECIFIED: PART NO‘
MATERIAL: PC MATERIAL: PC DIMENSIONS ARE IN: NCHESIm] | Y1 41971 C
COLOR: LIGHT GRAY COLOR: CLEAR orAGE ot + | MATERIAL olycase
FLAME RAT'NG: UL94V—O FLAME RATING: UL94V_O THREE PLACE DECIMAL: * PC 1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 U.S.A.
PRgEg}‘gf&?ARﬁ;"gngfbg‘%AL PlHF: 1-800-248-1233, 440-934-0444 FAX#: 440.934-0088
. THE INFORMATION conTaNeD INTHIS |~ FLAME RATING SIZE COVER REV
SCALET:3 SCALE1:3 o e UL9AY-0 D -
REV. DESCRIPTION JONE| BY |APPR'D| DATE | ORASAWHOLE WITHOUT THE WRITEN NAME | DATE
IO g oL PP DR | S, o, (BT 24 sone v | ) | sweerior
8 7 6 4 2 1




4X 45,0° \
' — /ﬁs\ Ve )/ - - - - - - - - - - - - - - - - ~_ ﬁ\ —
| T > 2\ N\,
4X 573 / ,
s ! ] \ = \
(= @
D Q.
3 @)
X 5
11.999
=
' < - - - - - - Ny - - - - - - - ) ' 10.250 | 12.594
S -
@)
| ! x | C ! |
O »
L || U \ \I ||
- ) - »
E—
- - - - - - - - - - - - - - - - Q A\
g S— @g / —
1 L L || 1 || I 1 LLI
12.250 172 = . 4X .31
4X BRASS INSERT }i-zgj / 07 o
10-32 UNF THRU :
4X BRASS INSERT [ [ ] | | |
10-32 UNF THRU * ' A J
PART NUMBER: YQ-14126B-14
MATERIAL: PC
COLOR: LIGHT GRAY
FLAME RATING: UL94V-0
UNLESS OTHERWISE SPECIFIED: PART NO.
ProLecances ancuag: | VQ-141268
TREE PACEDECAL n. | MATERIAL
PRINTED GRAPHICS: £.010 PC S A ey e
e mromaon coxtanzon s FLAME RATING SIZE REV
| | o oo W0 e D -.02
CPAITDRI;T\:;SIYOQI\»II%FQZBOLYCASEISPROHIB\TED. C?—‘RE,EV'ZED BDI\'\//\‘g 22//]47//22('61]411 SCALE: 11 SHEET] OF2

7 6 5 4 3 2 1

REV
-.02

YQ-14126B

“ D



(11.999)

S

7
7 159

— .204

SECTION C-C

8X .313

4X BRASS INSERT
1/4-20 UNC THRU

\_\

(13.999)

\_\

| —

SECTION B-B

M

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN: INCHES[mm]
TOLERANCES: ANGULAR: #2°
TWO PLACE DECIMAL: #-
THREE PLACE DECIMAL: *-
PRINTED GRAPHICS: +.010
PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
POLYCASE. ANY REPRODUCTION IN PART
OR AS A WHOLE WITHOUT THE WRITTEN
PERMISSION OF POLYCASE IS PROHIBITED.

CAD FILE: YQ-14126B

PART NO.
YQ-14126B
MATERIAL
PC

FLAME RATING

UL94V-0
NAME

SIZE

DATE D

DRAWN D.M.F. | 2/4/2014 1.
CHECKED | BMB. 2/17/2014 SCALE:1:1

1

1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 U.S.A.

PH#: 1-800-248-1233, 440-934-0444 FAX#: 440-934-0088

REV
-.02

SHEET 2 OF 2

REV
-.02

YQ-14126B

”D



	YQ-14121C.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View5
	Drawing View6
	Drawing View7


	YQ-141206.PDF
	Sheet1(3)
	Drawing View26
	Drawing View29
	Drawing View30
	Drawing View31
	Drawing View32
	Section View E-E
	Drawing View33
	Section View E-E

	Sheet1(2)(2)
	Drawing View34
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View40
	Section View F-F
	Drawing View41
	Section View F-F


	YQ-14126B.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View5
	Drawing View6

	Sheet2
	Drawing View8
	Drawing View9
	Section View B-B
	Section View C-C



